

PURCHASE REQUEST

Dept./Office: OHIGP/IHV

PR No.: STF-2022-08-01143

Date: 08-24-2022

Section/End-User: Marvin B. Bandalan

Category: Sports Supplies

Funding Source: Special Trust Fund

Project Title/Code: SCUAA 2022

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	Caps for VSU Athletes	рс	121	250.00		30,250.00
	Specification:					
	With VSU Name					
	Color: Golden Yellow, white and Green	Combina	tion			
2	Caps for VSU Coaches, Assistant Coaches and Other Officials	pcs	70	250.00		17,500.00
-	Specification:		7			
	Color: Golden Yellow, white and Green	Combina	tion			
3	Polo Shirt for Coaches and officials, Cotton, Sublimation	pcs	50	600.00		30,000.00
	Specification:					
	Uniform with VSU Current Logo					
	Color: Golden Yellow, white and Green	Combina	tion			
4	Shoes for Varsity athletes	pairs	121	1,000.00		121,000.00
	Specification:	pairs	121	1,000,00		121,000.00
	High Quality					
	White and Black Color Combination					
5	Uniform with Jogging Pants (solo)	set	1	900.00		900.00

C F	pecification: Cloth to be used: Dry Fit 1st Class								
F			Cloth to be used: Dry Fit 1st Class						
	Printing: Sublimation								
ľ	Jniform with VSU Current Logo, Name o	of Player	8 8						
C	Color: Golden Yellow, white and Green (Combina	ition						
6 D	Iniform with Jogging Pants, lance Sports - standard, len/Women	pcs	8	900.00		7,200.00			
Sį	Specification:								
c	Cloth to be used: Dry Fit 1st Class								
P	Printing: Sublimation								
u	Jniform with VSU Current Logo, Name o	f Player	s and Player N	lumber					
	Color: Golden Yellow, white and Green C								
		Johnshila	lion 1						
7 D	Iniform with Jogging Pants, lance Sports -Latin/Modern, len/Women	pcs	8	900.00		7,200.00			
Sp	pecification:	-							
C	Cloth to be used: Dry Fit 1st Class								
Р	Printing: Sublimation								
U	Iniform with VSU Current Logo, Name o	f Players	s and Player N	lumber					
С	Color: Golden Yellow, white and Green Combination								
	niform with Jogging Pants, Mr. & ls. VSU-SCUAA 2022	set	2	900.00		1,800.00			
Sp	pecification:		-						
С	Cloth to be used: Dry Fit 1st Class								
Р	Printing: Sublimation								
U	Uniform with VSU Current Logo, Name of Players and Player Number								
С	Color: Golden Yellow, white and Green C	ombinat	tion						
	niform with Jogging Pants, Pop ance	set	10	900.00	200	9,000.00			
Sp	pecification:			4					
С	loth to be used: Dry Fit 1st Class								
P	rinting: Sublimation								
U	niform with VSU Current Logo, Name of	Players	and Player N	umber					
		*	(85)						
9 Ui Da	niform with Jogging Pants, Pop ance pecification:			900.00		9,000.00			

	Color: Golden Yellow, white and Green	Combin	ation					
10	Uniform with Jogging Pants, Vocal Duet	set	2	900.00		1,800.00		
	Specification:	·	-	<u> </u>				
	Cloth to be used: Dry Fit 1st Class							
	Printing: Sublimation							
	Uniform with VSU Current Logo, Name	of Playe	r					
	Color: Golden Yellow, white and Green Combination							
11	Uniform, Badminton Men, T- Shirts, Shorts & Jogging Pants	set	5	1,400.00		7,000.00		
	Specification:				,			
	Cloth to be used: Dry Fit 1st Class							
	Printing: Sublimation							
	Uniform with VSU Current Logo, Name of	of Player	s and Player N	Number				
	Color: Golden Yellow, white and Green Combination							
12	Uniform, Badminton Women, T- Shirts, Shorts & Jogging Pants	set	5	1,400.00		7,000.00		
	Specification:							
	Cloth to be used: Dry Fit 1st Class							
	Printing: Sublimation							
	Uniform with VSU Current Logo, Name of	of Player	s and Player N	lumber				
	Color: Golden Yellow, white and Green Combination							
13	Uniform, Baseball Men, T-Shirts, Playing Pants and Jogging Pants	set	15	1,400.00		21,000.00		
	Specification:							
	Cloth to be used: Dry Fit 1st Class							
	Printing: Sublimation							
	Uniform with VSU Current Logo, Name of	f Player	s and Player N	lumber				
	Color: Golden Yellow, white and Green Combination							
14	Uniform, Basket Men, T-Shirts, Shorts & Jogging Pants	set	12	1,400.00		16,800.00		
	Specification:	-			L			
	Cloth to be used: Dry Fit 1st Class	į						
	Printing: Sublimation							
_								

Uniform with VSU Current Logo, Name of Players and Player Number Color: Golden Yellow, white and Green Combination Uniform, Basketball Women, Tset 12 1,400.00 16,800.00 Shirts, Shorts & Jogging Pants Specification: Cloth to be used: Dry Fit 1st Class Printing: Sublimation Uniform with VSU Current Logo, Name of Players and Player Number Color: Golden Yellow, white and Green Combination Uniform, Jacket for VSU athletes, 129 1,000.00 pcs 129,000.00 **Techno Micro Fiber with Hood** Specification: Jacket Uniform with Hood Uniform with VSU Current Logo Color: Golden Yellow, white and Green Combination Uniform, Jacket with hood for VSU Coaches, Techno Micro Fiber or set 65 1,000.00 65,000.00 any equivalent Uniform, Jogging Pants for 18 set 65 900.00 58,500.00 Coaches Uniform, Softball Women, T-Shirts, Playing Pants & Jogging set 15 1,400.00 21,000.00 **Pants**

Specification:

Cloth to be used: Dry Fit 1st Class

Printing: Sublimation

Uniform with VSU Current Logo, Name of Players and Player Number

Color: Golden Yellow, white and Green Combination

20 Uniform, Table Tennis Men, T-Shirts, Shorts & Jogging Pants set 5 1,400.00 7,000.00

	Specification:			7		2	(10)
	Cloth to be used: Dry Fit 1st Class	Å					
	Printing: Sublimation						
	Uniform with VSU Current Logo, Name	of Playe	ers and P	layer Nı	umber		
_	Color: Golden Yellow, white and Green	Combin	ation				
21	Uniform, Table Tennis Women, T- Shirts, Shorts & Jogging Pants	set	5	, [1,400.00		7,000.00
	Specification:	4					L
	Cloth to be used: Dry Fit 1st Class						
	Printing: Sublimation						
	Uniform with VSU Current Logo, Name	of Playe	rs and PI	ayer Nu	ımber	ē -	•
	Color: Golden Yellow, white and Green	Combin	ation		28.1		
22	Uniform, Volleyball Men, T-Shirts, Shorts & Jogging Pants	set	12	2	1,400.00		16,800.00
	Specification:						
	Cloth to be used: Dry Fit 1st Class						
	Printing: Sublimation						
	Uniform with VSU Current Logo, Name of	of Playe	rs and Pla	ayer Nu	mber		
	Color: Golden Yellow, white and Green (Combina	ation				
23	Uniform, Volleyball Women, T- shirts, Shorts & Jogging Pants	set	12		1,400.00		16,800.00
	Specification:						
	Cloth to be used: Dry Fit 1st Class						
	Printing: Sublimation						
	Uniform with VSU Current Logo, Name of	of Player	s and Pla	ayer Nur	mber		
3	Color: Golden Yellow, white and Green C	Combina	ition				
	TOTAL		T		9.*		616,350.00
Purp	pose: For SCUAA Meet 2022						·
Chec	cked by:				Funds Availat	ble:	
	LYNDON L. MANING	GO.				ALICIAM. FLORES	
	TWG - Sports Suppli			HEAD BUDGET OFFICE	Mileh - an		

	Requested by:	Noted by:	Approved by:
Signature:	44	1100	alfrice
Printed Name:	MARVIN B. BANDALAN	CHARIS/B. LIMBO	EDGARDO E. TULIN
Designation:	END USER	UNIT HEAD, PROJECT LEADER	PRESIDENT, VSU